5" — 6" grades 2017

Name: School Team:

Clrcle your final
answerl
Event 1: Computations Without Calculator- 20 points total

Part I (2 points each)
Remember to simplify all fractions if able!

15 , 25

1. 2+2

63 49

2, 16-22+18x%3

3. 18% of 312

4. Write 352% as a simplified mixed number

5. Ifx=2andy =35, find 3x — 2y + 6xy



5t — 6™ grades 2017

Name: School Team:

Circle your final
answer!
Event 1: Computations Without Calculator- 20 points total

Part II (2 points each)
Remember to simplify all fractions if able!

1. 1641+0.3

. . 03 _24
2. Find what x is 1fg;—40

5
3. 2gx4

4 4x(3-D)-@2+3)

5. Find the Greatest Common Factor of 90 and 48.



5% — 6™ grades 2017

Name: School Team:

Event 2: Computations With Calculator- 25 points total

Circle your final
answer!

Consumer Math (5 points each)

1.

A woman wants to go on vacation to Thailand. She knows that she can exchange $5.49
for 147 Thai Bahts (money used in Thailand). If she receives 9,342 Thai Bahts, how
many US dollars did she exchange? Round your answer to the nearest cent.

A man bought a piano for $4519.52. He wants to sell the piano and make a 45% profit.
How much should he sell the piano for? Round your answer to the nearest cent.

Store A and Store B both sell condensed milk. Store A offers 18.3 ounces of condensed
milk for $3.19. Store B offers 16.4 ounces of condensed milk for $2.97. Which is the
better buy?

A man earns $48,617.52 in a year. He first pays 8% tax on his salary. He then saves
10% of the remaining money. How much money does he save in 3 years? Round all
amounts to the nearest cent.

A woman bought 150 magazines for $450. She sold half of them at a profit of 20%, 50
of them at a profit of 10%, and the rest at a profit of 5%. How much money did she
make?



5™ — 6" grades 2017

Name: School Team:

Event 3: Mathematical Reasoning With Calculator- 35 points total

Circle your final
answer!
Part I: Logic and Patterns (7 points each)

Remember to use labels when appropriate

1. Find the number which fits the following clues:
- All digits are odd, and every possible odd digit is used exactly one time
- The digits are not in increasing or decreasing order
- The first digit is not a multiple of 3
- No digit is next to the next higher or lower odd digit
- The middle digit is 5
- The number is greater than 20,000

2. Three friends are from different schools (Greenville, Bloomsberry, or Windschill) and
enjoy different sports (swimming, basketball, or volleyball). Determine which friend
attends which school and enjoys which sport using the clues below. Fill out the chart
below with your answers.

- Melissa does not attend Greenville.

- Amy does not attend Bloomsberry.

- The student who likes volleyball does not attend Windschill.
- The student who likes swimming is not from Greenville.

- Melissa likes volleyball.

- Tony does not like to swim.

Name | School Sport

Tony

Melissa

Amy




5t _ 6" grades 2017

Name: School Team:

Event 3;: Mathematical Reasoning With Calculator- 35 points total
Circle your final
answerl
Part II: Logic and Patterns (7 points each)

3. Find the next two numbers in the number sequence.

1, 8,27, 64, .

4, Find the next two numbers in the number sequence.

1, 3,6, 10, )

5. Find the 67" shape in the following sequence.

el

The 67" shape will be




5t — 6" grades 2017

Name: School Team:

Event 4: Mental Math (no calculator)- 20 points total
(2 points each)

Example:

1)

2)

3)

4

5)

6)

7)

8)

9

10)




5% — 6™ grades 2017

Name: School Team:

Circle your final
answer!

1. A Science teacher writes the scores for a chapter test down below. Each score is out of

100 possible points.
78, 92, 65, 100, 94, 73, 82, 91, 60, 91, 93, 98, 100, 84, 91, 78

Event 5: Team Problems (with calculator)- 100 points total
Part 1: Statistics (6 points each)
Do not round any decimal answers!

a) What is the mode of all the test scores?

b) What is the median of all the test scores?

¢) What is the mean of all the test scores?

d) If 3 more students take the test and each scores above 86 points, what will happen to
the mean? (Go up, go down, or stay the same?)

¢) Two more students take the test and score 89 and 90. Find the new median.



5" — 6™ grades 2017

Name:

School Team:

Circle your flnal
answerl
Event 5: Team Problems (with calculator)

Part 2: Probability (6 points each)

Remember to simplify all fractions if able!
2. A teacher offers her students a deal: Each day they can pick a letter at random from a bag
which holds all the letters of the alphabet. Their goal is to spell the word “FIESTA”, at
which time they will get a party.

a)

b)

d)

What is the probability of randomly selecting a letter from the word “FIESTA” on the
first day?

During the first four days of school, students chose the letters D, Q, C, and W. These
letters were kept out of the bag. What is the probability that the next letter selected
from the bag will be a letter from the word “FIESTA”?

A student reaches in the bag and selects a letter. He tells the class that his letter is in
the word “FEBRUARY”. What is the probability that the letter is also in the word
“FIESTA™?

For 8 days, a letter has been drawn from the bag and not replaced. None of the letters
were a part of the word “FIESTA”. Find the probability that a letter from the word
“FIESTA” is drawn on the 9™ day.

After the letter drawn on the 9™ day (see part (d)) was also not a part of the word
“FIESTA”, the students complained that it was taking too long. So the teacher
promised to add copies of the letters A, I, and E to the bag. What is the probability
that a letter from the word “FIESTA” will be drawn on the 10" day?



5% — 6" grades 2017

Name: School Team:

Circle your final
answer!
Remember to simplify all ratios if able!

3. In a pet shop, the ratio of bunnies to puppies is 3:5. All bunnies are white or black. The
ratio of white bunnies to black bunnies is 2:1. All puppies are black or brown. The ratio
of black puppies to brown puppies is 2:1.

Event 5: Team Problems (with calculator)
Part 3: Ratios (5 points each)

a) If there are 30 puppies, how many puppies are brown?

b) If there are 12 white bunnies, what is the total number of bunnies in the shop?

¢) The pet shop also has 24 kittens. Find the ratio of the number of bunnies to the
number of puppies to the number of kittens. Hint: Use the information from parts (@)

and (b).

d) Later that week, four bunnies, six puppies, and 8 kittens have been sold. The pet
store also received six bunnies, ten puppies, and two kittens to sell. Find the new
ratio of the number of bunnies to the number of puppies to the number of kittens.
Hint: Use the information from parts (a), (b), and (c).



5t _ 6" grades 2017

Name: School Team:

Circle your flnal
answerl

a) There were some marbles in a bag. Anita took half of the marbles out of the bag.
She then put one marble back in the bag. She completed this process 3 times. There
were 7 marbles left in the bag at the end. How many marbles were there in the bag at
first?

Event 5: Team Problems (with calculator)
Part 4: Problem Solving (5 points each)

4.

b) Penelope has some beads. She splits them into 4 equal groups, but 1 bead is left out.
When she splits them into 5 equal groups, 1 bead is still left out. When she splits
them into 6 equal groups, 1 bead is still left out. What is the smallest number of
beads that Penelope might have if we know that she has more than 1 bead?

¢) Andre had some books. He donated 20% of his books to the school library. Andre
then gave a third of his remaining books to his cousin. 25% of Andre’s remaining
books had more than 10 chapters. If Andre had 24 books with less than 10 chapters,
how many books did he have at first?

d) A recipe for ice cream requires 3% cups of chocolate chips and serves 8 people. You

want to change the recipe in order to serve 10 people? How many cups of chocolate
chips will the recipe require? Be sure to write your answer as a simplified mixed
number.



5t - 6% grades 2017

Name: School Team:

Circle your final
answer!
Event 1: Computations Without Calculator- 20 points total

Part I (2 points each)
Remember to sxmphfy all fractions if able' iz

R Y N
" 63 49 }/{ >)§ \S

3

2 16-22+18x3 = |6-X2+54= ~b+5H :

2

3. 18% of 312 (0%, ~ 31.7& 3|\.SL
: g (
( ]/ ~ 3,12 \) _i}_i,_.\_ﬁ-—
%% — 24,96 510G
4. Write 352% as a simplified mixed number
2 52
352°), = 222 = 3%,

loO

5. Ifx=2and y= S5, find 3x — 2y + 6xy

() -218) 6 (3)(5)= 6 -0+ 6o
= "4 460

6



5t — 6™ grades 2017

Name: School Team:

Circle your final
answer)
Event 1: Computations Without Calculator- 20 points total

Part II (2 points each)
Remember to simplify all fractions if able!

54,1

1. 16.41+0.3 ) 3‘ L“ @
v :B____,___ .ab o1¢ 10

B
-1
12
2\

24

2. Find what x is 1f—x ==

40 ’%:-_ L.(Q

S0 Sx
3.8 - <5

%:i‘:&,i, 2. -?-31]

3 ~
> 3 = m ) I
44xp-H-e+h = x5 5, o
ot
[ H0
5. Find the Greatest Common Factor of 90 and 4% T
/N \% -1
g 10 b\
39,6 L f!L)S‘J



5% — 6t grades 2017

Name: School Team:

Clrcle your final
answer!
Event 2: Computations With Calculator- 25 points total

Consumer Math (5 points each)

1. A woman wants to go on vacation to Thailand. She knows that she can exchange $5.49
for 147 Thai Bahts (money used in Thailand). If she receives 9,342 Thai Bahts, how
e many US dollars did she exchange? Round youl answer to the nearest cent.

(HLIZ’H? £ (3, 5§ Cor—m% o® 197 Ths B c\\h’K ¢ froves of 5 /"“

03,55 x Vs, = I3ug g9 or
' mwé)

. D¢ Pres fn
2. A man bought a piano for $4519.52. He wants to sell the piancand make a 45% plgofit. e 18
How much should he sell the piano for? Round your answer to the nearest cent.

145 of 9uSig ¢ 5 1,95 x Tu519,52
¥ (553,30

3. Store A and Store B both sell condensed milk. Store A offers 18.3 ounces of condensed
milk for $3.19. Store B offers 16.4 ounces of condensed milk for $2. 97 Whlch is the
better buy? .

b
S’\Ure A= %’]ol ‘.‘ lb’,g ~~ jlonr'} pPY oundct
St B 2 1293 £ 10,9 2 2018 oo gunce

4, A man earns $48,617.52 in a year. He first pays 8% tax on his salary. He then saves

10% of the remaining money. How much money does he save in 3 years? Round all N,
amounts to the nearest cent. J Y » 437, gy s 2260 VY
OOZ}’\“‘-Q,Q:,«“/W 3834, L]o(_my) y 7 wi§

bug pi2.s2 ~83889.40 = 5 LT“{,?Z&’?

0.1 » Juihg & *‘H_}HZ.W (sowed enn yeur)

5. A woman bought 150 magazines for $450. She sold half of them at a profit of 20%, 50
of them at a profit of 10%, and the rest at a profit of 5%. How much money did she

make? . R R
j}."f)’/) “150+= i{; per mopEnt Sold §or t B20rBiLy 4 5387917
845352 oy ; Tsi3.a8

prubof 20% means .22 7 225 = 4270 el )
¥3%50 = Vigo ¢ oo ¥ py3,35 - Basp= H (235

P 0§t b 10%, earg 137 50 =2 lbs e =
P3x2E AL s 107 R 3 91 . ,3.75)

LR L L Ak N "



5t~ 6% grades 2017

Name: School Team:

Event 3: Mathematical Reasoning With Calculator- 35 points total

Circle your final
answer!
Part I: Logic and Patterns (7 points each)

Remember to use labels when appropriate

1. Find the number which fits the following clues:
- All digits are odd, and every possible odd digit is used exactly one time -» | 353 A
- The digits are not in increasing or decreasing order
_ The first digit is not a multiple of 3 =) Mo~ b 1 § 0c?

- No digit is next to the next higher or lower odd digit
- The middle digit is 5

- The number is greater than 20,000

A

=l
\
+1,593 .

%

2. Three friends are from different schools (Greenville, Bloomsberry, or Windschill) and
enjoy different sports (swimming, basketball, or volleyball). Determine which friend

attends which school and enjoys which sport using the clues below. Fill out the chart
below with your answers.

- Melissa does not attend Greenville.
- Amy does not attend Bloomsberry.
- The student who likes volleyball does not attend Windschill.

- The student who likes swimming is not from Greenville.
- Melissa likes volleyball.

- Tony does not like to swim.

LW — | —

R A

2
\
3
¢
3
4

O~

Name School Sport

Tony G 6w , BOBX oL
(jrea_r\v\\\g ngsgfaﬁmlf

Melissa

\K @_ 7 BIOOP”\SLZIT\A) > F \/‘ \/OHC‘V\,L@-H
Amy % B Windschil s B K

Swimming
=




5th— 6% grades 2017

Name: School Team:

Event 3: Mathematical Reasoning With Calculator- 35 points total
Circle your final
answer!
Part II: Logic and Patterns (7 points each)

3. Find the next two numbels in the number sequence

1,8,27, 64, 15 ) DJL )

3

NPT

4. Find the next two numbers in lh(euumbel sequence.
)

1, 3,6, 10, 1) 3
Y ”

o
104

5. Find the 67" shape in the following sequence.

AT A

[ 2 3 N 5 b 7

=9

y -
Q\/efl/)"rk ’WW ” ’B- So SL"\?@ o8 1S ﬁ,(_ 5(] Le Lore '!«'\-,1} S rri

A h"*-..

The 67" shape willbe .. y,



5t — 6t grades 2017

Name: School Team:

Event 4;: Mental Math (no calculator)- 20 points total
(2 points each)

Example: 45
, 2

. 2513
y LD

4) C\O\

) 1

- Y

6) éJ
L

7) 2

8) QC)

D

10) ‘SCML




5t — 6t grades 2017

Name: School Team:

Circle your final
answer!
Event 5: Team Problems (with calculator)- 100 points total

Part 1: Statistics (6 points each)
Do not round any decimal answers!
1. A Science teacher writes the scores for a chapter test down below. Each score is out of

100 possible points.
78, 92, 65, 100, 94, 73, 82, 91, 60, 91, 93, 98, 100, 84, 91, 78

a) What is the mode of all the test scores?

Ly geeurs most okien
i)
b) What is the median of all the test scores?
L middie 4 wramﬂai " orJQr

6O 6573 F87y 82 8Y 01}4\‘),’ q1 9293 94 9% j00 Jo0

c) What is the mean of all the test scores? 3
sy add .:«H Dxnj dw»rjﬁ b -v)'\t noenbe oF $egred

3 =)

[C jotal Scores @
1370+, = 85,625 - 856

d) If 3 more students take the test and each scores above 86 points, what will happen to
the mean? (Go up, go down, or stay the same?)

Cvo o CWQ could hase Vb tesis all scoring 85.625. € +heee
: { . | oI
Mare 4e5t5 Gre added 1a ond all Score L.\fjkﬁ; Yiaua e
Mian ; we 1JJUU!{J3£.‘} [ Ec«x:}é‘} Wil e 11/11.«4 M xo"_‘?,{i?)
e) Two more students take the test and score 89 and 90. Find the new median.

(O 65 %3 638 ¥2 59 59 90 9 9191 1293 94 98 Joo_1oo

q@g) Go-41 . YL - q05
~ ’/ A 2



5" — 6t grades 2017

Name:

School Team:

Circle your final
answerl|
Event 5: Team Problems (with calculator)

Part 2: Probability (6 points each)

Remember to simplify all fractions if able!
2. A teacher offers her students a deal: Each day they can pick a letter at random from a bag
which holds all the letters of the alphabet. Their goal is to spell the word “FIESTA”, at
which time they will get a party.

a)

b)

d)

What is the probability of randomly selecting a letter from the word “FIESTA” on the
first day?

During the first four days of school, students chose the letters D, Q, C, and W. These
letters were kept out of the bag. What is the probability that the next letter selected

A student reaches in the bag and selects a letter. He tells the class that his letter is in
the word “FEBRUARY”. What is the probability that the letter is also in the word

“FIESTA”? o 1R B e -
(= A . |
CO(’)I\I& Caygnf R f-uj".,__g>

For 8 days, a letter has been drawn from the bag and not replaced. None of the letters
were a part of the word “FIESTA”. Find the probability that a letter from the word
“FIESTA” is drawn on the 9™ day. Q)

\ %
After the letter drawn on the 9™ day (see part (d)) was also not a part of the word
“FIESTA”, the students complained that it was taking too long. So the teacher

promised to add copies of the letters A, I, and E to the bag. What is the probability
that a letter from the word “FIESTA” will be drawn on the 10" day?

—_—




5% — 6" grades 2017

Name: School Team:

Circle your final
answerl
Event 5: Team Problems (with calculator)

Part 3: Ratios (5 points each)

Remember to simplify all ratios if able!
3. In a pet shop, the ratio of bunnies to puppies is 3:5. All bunnies are white or black. The

ratio of white bunnies to black bunnies is 2:1. All puppies are black or brown. The ratio
of black puppies to brown puppies is 2:1.

a) If there are 30 puppies, how many puppies are brown?

f)\*\:?) 3013 =10

W)

b) If there are 12 white bunnies, what is the total number of bunnies in the shop?
g x(j & ‘8

c) The pet shop also has 24 kittens. Find the ratio of the number of bunnies to the
number of puppies to the number of kittens. Hint: Use the information from parts (a)

) 1%:30:24

d) Later that week, four bunnies, six puppies, and 8 kittens have been sold. The pet
store also received six bunnies, ten puppies, and two kittens to sell. Find the new
ratio of the number of bunnies to the number of puppies to the number of kittens.
Hint: Use the information from parts (a), (b) and (c).

bunq’;cs Fwi;pies K"f%’(‘ﬂj

K 30 ay 90:3wg 10017
Y 4 -
L

Y 3y 1%



5th— gt grades 2017

Name: School Team:

Circle your final
answer!
Event 5: Team Problems (with calculator)

Part 4: Problem Solving (5 points each)

4.
a) There were some marbles in a bag. Anita took half of the marbles out of the bag.
She then put one marble back in the bag. She completed this process 3 times. There
were 7 marbles left in the bag at the end. How many marbles were there in the bag at

first? vl 7 = 72\ El__,,; = 45) f’;‘)
LBk =9 % _\l__ ] 2 I \_3?__)

—————c——r e

b) Penelope has some beads. She splits them into 4 equal groups, but 1 bead is left out.
When she splits them into 5 equal groups, 1 bead is still left out. When she splits
them into 6 equal groups, 1 bead is still left out. What is the smallest number of
beads that Penelope might have if we know that she has more than 1 bead?

LCm (L{}g/g\) - (O

‘ More ( | i-({"; 0\”.3

¢) Andre had some books. He donated 20% of his books to the school library. Andre
then gave a third of his remaining books to his cousin. 25% of Andre’s remaining
books had more than 10 chapters. If Andre had 24 books with less than 10 chapters,
how many books did he have at first?

b(’i' ] njn mj

QO ‘ L Lm{-wﬂn '“I"“T.ym—( Nyz3-y  Hsusl2
Yooty Yxgz3z  S*2= by
3xli=H8

—___.-—‘--‘["-
d) A recipe for ice cream requires 3— cups of chocolate chips and serves 8 people. You

want to change the recipe in 01de1 to serve 10 people? How many cups of chocolate
chips will the recipe require? Be sure to write your answer as a simplified mixed

number.
I L I |
—_— X b T e X _ T - 2 [ cops DPerf c¢ Son
’ B = Al
Y) it e = G 5 - f._\‘l d_]-"
P == fﬂ
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Name: School Team:;

Circle your final
answer!
TIE BREAKER

Remember to simplify!
For each problem below, the rod sections are the same length.

1. If the length of Rod B is %/3 unit, what is the length of Rod A? 2 - "i 3 } x,l :
3 3 ;}\
Rod B | | J
l l 1.5
Sx4-2
Rod A
l | | | I
1 I | A3
2. If the length of Rod C is 5= units, what is the length of Rod D? — — 8 = = g !
2 a ! A v
Rod C
T T T [ 1 T ]
Rod D ooall 55
N s s s s s B el 7
el .’-]-HH_““-\

un ; \-5 \\'I}

B . =
T ymits or 3
I "

3. If the length of Rod E is 5.2 units, what is the length of Rod F?

.
y .

<

¢

Rod E

§21+Y=13
g X’[; = gl\’.‘,}

| | |

RodF

i —

ERDISE

e e 57

—

—

‘\\



